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He can quit even in the middle of the day

OVERVIEW

X237 asked 1am1 21 if we assume that 17°2m% 7R°X7 7223357 is not 7P, why is the
rule that the 7X°Xxn of a worker belongs to the 2"7va (under certain
circumstances). 1am1 21 answered that a 319 is different from a ‘regular’ 0910
since 17° is 2"7wa 2. The X3 asked how you can say that 2"y 793 590 7
when 21 ruled that a 519 is 217 *¥12 19°9K 12 N2 912°. Our Moo will first
explain what the v17°1 of 27 1s, and why it was necessary to cite him.

nooIn asks:
— (8,39 9710PY) PIVIND P92 NI 1Y ¥NRYN RP INND) 99X ON)

And if you will say; and what is 21 teaching us (by saying that a 913° 731
12112 MiR); for in PIRINT PAD -
— 1929) NDYT %24 299 NY

X017 "1 and the 7129 do not argue whether a %319 is permitted to quit 217 Y¥nX3, for

all agree that he may quit -
— *navhyn HY 1151 9920 PR) Lnnnnn Sy Y 191 920 NDIT 5397 NN

But rather their argument is that X917 ' maintains that the worker has
the ‘weaker hand’, and the 3129 maintain that the worker has the upper

hand -
— %12 991 9199 1999Y Yax

But all (31271 X017 ') agree that the worker can quit, so what is 21 teaching us
when he rules that 191 12 1% 9137 HyIo.

N1B0IN answers:
— 13395 35PN 5P 1791 93 MNY 919547 19 ¥PYUN NPT Y Y

And one can say; that 11 teaches us that worker can quit and ¥ 17
e, like the 321 -

! The worker was hired for ten 17 for a day’s work. The worker decides to quit after working half the day.
However the price of labor increased and it cost now twelve 0’17 per day to hire a worker (six 2717 for a
half-day). According to X017 " the owner deducts six a°11 from the pay of the original worker (for he needs
to pay the new worker six 0’17 for the remainder of the day’s work) and pays the original worker four o171
for half-a-day’s work. The worker loses a 11. This is the meaning of 723007 ¥ 17°.

? See previous footnote # 1. According to the 7327 the workers receive half their wages (five 17) regardless
what it will cost the owner to hire new workers. This means 711°9977 23 2319 7.

? See 7"nx # 99 that others claim that the subtext of mooIN question is why cite 27 (that 12 Y 912° H¥19)
when we can cite the 8n°>72 of 1127 X017 " that 12 2% 213° %19, This is answered in the end of mvoIN.

1

TosfosInEnglish.com



2120 7"7'0In R,> "2 702

— 999V 28NN 1D INNDY XD 12 9TNY INNRD DN I8N DI 19P29N) DN 1D2ON
Even if workers became more expensive after half-a-day when the

worker quit, nevertheless the employer cannot deduct from half his wages
which are due to him.

Mmoo explains why the X7n3 found it necessary to quote 271 when 71271 X017 27 also agree
that 12 > 9120 Hyo:*
— *15an Hya o v PPN 19 ON NINPDYN DY 11T 11999 299 NN SN TOD

And therefore the X713 cited the ruling of 21, for since 11 rules that 531 7

mIvoen 5w, this proves that the 79 of the worker is not nvam b2 792, and
therefore the question remains why is the 71217 2"77v2 in the 78°%7 of the 2319 since it a 09N
"1 n"'yab.

:75'11)5:‘,7: N9 ‘oY Y99va 19293 92947 (ow) PININD 2992 NI 1)

And the X773 In PI2INT P92 proves in a similar fashion that 27 agrees with
the 1129 regarding a daily hired worker but not by a contractor.

SUMMARY
0Y°7 °¥12 ORI 12 NI 9120 DY means that 730°5Y0 DY o 7.

THINKING IT OVER
1. How did mpoin (seemingly) initially understand the proof from 17, and
how does m»doIN finally understand it?

2. According to m»oin that the proof that 731 7 is not 2"77v2 7°3 is from the
fact that ®717°%7 ¥ 17°, how does the Xn3 subsequently reject this proof?

* See footnote # 3.

> The proof that 912 7 is not n*a7 Y¥a 73 is only from the fact that 7315971 %¥ 5919 7, but not from the mere
fact that 12 m> 912> (if 730AN7 %Y 519 7). The reason why X017 " maintains ANNANT 99 9319 7° is [perhaps]
because the 9v15 did something wrong; he had no permission to quit, and since his quitting caused a loss to
the 2"nv3a, the 99 is responsible. However if we assume that 711%vn 5y 531 7, this implies that he is
permitted 77nn3% to quit and therefore does nothing wrong by quitting and receives his full wages. This
proves that 17> is not 2"7v2 73, for he is permitted to quit. If it would be 2"7va 7°3, then obviously the 2"7v2
does not want him to quit (especially if it causes a loss to the 2"7v2). See n"mi. See ‘Thinking it over’ # 2.

® The xm3 (there, perhaps) understood from the statement of 2 that 12 9m 712° Yv10 implying that he may
quit 77°1n37 indicating that he has full permission to do so, and therefore 71v5v77 ¥ 17 like the 1221.

7 A contractor must suffer the loss that the 2";wa incurs (since the P15 of 2°72y *"12 *% applies only to a
hired worker, but not to a contractor, therefore he is not permitted to quit and must suffer the loss). 27 used
the term %19 which indicates a hired worker and not a contractor.

¥ See footnote # 5.
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